Decoration FSL should be embroidered on two layers of a water-soluble stabilizer.
If your water-soluble stabilizer has a high density, then you can embroider on one layer.
After the products are embroidered, the water-soluble stabilizer should be washed.

If it is a brooch or other product that must be tough and keep in shape, do not wash away the highly
water-soluble stabilizer.

The product must then be dried. Sometimes you can use an iron, you need to put under the product and
top a terry towel and iron it.

Then, according to your taste, the product can be decorated with beads, sequins, paillettes. And add
hardware.

For hoop 4 x 4 inches:
1.Embroider design IB53-A,

Cut the stabilizer near the docking place near to embroidery.

2.Embroider the first color design IB53-B.

Put the first embroidered design element (IB53-A) exactly on the line .

Attach a safety pin, as shown in the photo . And lightly holding , start embroidery at low speed.
Once the two elements are fastened with stitches , the speed can be increased.

also embroider and fasten the other two colors .



3.Then repeat the embroidery design IB53-B. Fastened it with the previous ones.
4.The length of the finished necklace is about 22 cm .

If you want to increase the length , repeat the design embroidery IB53-B again.

For hoop 6 x 10 inches
1.Embroider design IB53-C

The length of the finished necklace is about 22 cm .

For hoop 5 x 7 inches

1.Embroider design IB53-D,

Cut the stabilizer near the docking place near to embroidery.
2.Embroider the first color design IB53-E.

Put the first embroidered design element (IB53-D) exactly on the line .



Attach a safety pin, as shown in the photo . And lightly holding , start embroidery at low speed.
Once the two elements are fastened with stitches , the speed can be increased.
also embroider and fasten the other two colors .

3.The length of the finished necklace is about 25 cm .

YKpalweHus FSL 4onXKHbI BbILUMBATLCA Ha ABYX CN0SX BOAOPACTBOPUMOro ctabmuansatopa.

Ecau Balw BOAOPACTBOPMMbIN CTabuamnsaTop meeT 60/1bLLyO MAOTHOCTb, TOTAa Bbl MOMETE BbILMBATb
Ha O4HOM C/loe.

lMocne TOro Kak usgesnune BbIWUTO BOAOpaCTBOpMMbIﬁ CTa6VIJ'IVI3aTOp AO/1KeEH 6bITb BbIMbIT.

Ecnu 310 6poLLb UK ApPYyroe n3aenne KoTopoe A0XNKHO BbITb KeCTKUM U AepxaTb Gopmy, He
BbIMbIBalTE CU/IbHO BOAOPACTBOPUMbINV CTabuansaTop.

3atem usgenme AOMKHO 6biTb BbICYLWEHO. MHOMAa MOXHO UCMONAb30BaTb YTION, HYXHO NOA/0MUTL NOS,
n3aenme n CBepPXy MaxpoBoe MoJIOTEHLIE U NPOrNaauTh.

3aTem Mo Ballemy BKYCy Usaenne MoxKeT bbiTb yKpalweHo bucepom, cTpasamu, naietkamu. M o6asutb
bypHUTYpY.

Ona nanbues 4 x 4 goima:

1.Bbiwerite daiin gusanHa IB53-A,

BblperkbTe cTabninsaTop Bo3/ie CTbIKOBOYHOIO MeCTa PAAO0M C BbILLUMBKOM, KaK NOKa3aHOo Ha ¢OTOo Bbille.
2.BbliwenTe nepsbli LBETHOM An3anH IB53-B.

MomecTuTe NepBbINA BbIWNUTbIN 31EMEHT An3aiH (IB53-A) TOYHO Ha IMHUIO CTbIKOBKU.

MpukpenuTe 6ynaBKoW, Kak NOKasaHo Ha ¢oTorpadumn. U cnerka yaeprkmeas, HauMHainTe BbIWMBaTb Ha
HW3KOM CKOPOCTH.

Mocne Toro, Kak 4,Ba 3/IeMeHTa 3aKpenieHbl CTEXKKAaMM, CKOPOCTb MOXKET BbITb yBE/IMYEHA.
TaK e BbILUMBAIOT U 3aKPENAIOT ABa APYruxX LBeTa.

3. 3aTem noBTOPUTE AM3aliH BbilWMBKK IB53-B. MpuKpenute ero K npeablaywmm.

4. inviHa roTOBOrO OXKepesibA COCTaBAAET OKOJI0 22 CM.

Ecnu Bbl XOTUTE YBEIMUUTL AJINHY, MOBTOPUTE AN3aNHEPCKYIO BbIWMBKY IB53-B cHoBa.

Ona nanbues 6X10 arolimoB:

BbiwenTe amsaiiH IB53-C,



LNnHa rotoBoro oXkepenbs 0Kono 22 cMm.

Ona nanbues 5X7 AlonMmoB:

1. BoiweiTe ausaiH IB53-D,

BbiperKbTe cTabuin3aTop Bo3/ie CTbIKOBOYHOIO MecTa PSAOM C BbILLMBKON.
2.BblwenTe nepsbii UBeT An3anHa IB53-E.

MomecTuTe NepBbIN BbIWNUTbIN 31EMEHT, AM3aiH (IB53-D) TOUHO Ha IMHUIO CTbIKOBKM

MpuKpenuTe 6yNaBKOM, Kak NOKa3zaHO Ha ¢oTorpadumu. U cnerka yaepxueas, Ha4MHaMTe BbILWMBATDL HA
HWU3KOM CKOPOCTMU.

Mocne Toro, KaK ABa 3/1eMeHTa 3aKpensieHbl CTeXKaMK, CKOPOCTb MOXKET BbITb yBenYeHa.
TaK e BbILMBAIOT U 3aKPENNAIOT ABa APYrUX LBeTa.

JNnHa roToBOro oXkepesba OKON0 25cm.



